Residue

Stereoselective Micellar Catalysis. Part 4.1 Catalytic Hydrolyses of Enantiomeric Esters by Dipeptide Derivatives containing a Histidyl

Yasuji Ihara,* Noriko Kunikiyo, and Tomoko Kunimasa Yamaguchi Women's University, 3-2-1 Sakurabatake, Yamaguchi 753, Japan Yoshiharu Kimura, Mamoru Nango, and Nobuhiko Kuroki Department of Applied Chemistry, University of Osaka Prefecture, Sakai, Osaka 591, Japan

> The rate constants for hydrolyses of the enantiomers of various amino acid *p*-nitrophenyl esters catalysed by optically active dipeptide catalysts containing a histidyl residue have been determined at pH 7.30, 0.02M-phosphate buffer, and 25 °C in the presence of cetyltrimethylammonium bromide micelles. The dipeptide catalysts demonstrate greater stereoselectivity than simple optically active catalysts. The structural effects of catalysts and substrates are examined by investigation of the rate constants and stereoselectivities. The role of their hydrophobicity and their stereoselective reaction mechanism are discussed.

Stereospecificity and high catalytic reactivity are among the most interesting properties of enzyme action.² Several model studies on micellar,³⁻¹⁰ polymer,^{3.11-15} and macrocyclic^{3.16-19} catalysed reactions have been investigated in order to gain further insight into the stereoselective nature of enzyme reactions. In the course of our study on stereoselective micellar catalysis.^{1.20} we found that mixed micelles of optically active N-acylhistidines (Ia-d) and cationic surfactants are effective stereoselective catalysts for the hydrolyses of enantiomeric esters. A mechanism was suggested for the stereoselective catalysis involving the acylation of the optically active histidine residue. Recently, a high stereoselectivity was observed in the hydrolyses of long-chain p-nitrophenyl Nacylphenylalanates catalysed by N-(N-dodecanoyl-L-histidyl)-L-leucine and a cationic chiral surfactant.²¹ An exceptional micellar stereoselectivity was observed in the cleavage of diastereomeric dipeptide *p*-nitrophenyl esters by functional surfactant micelles.²² These observations indicate the possibility of designing optically active catalysts with enhanced stereoselectivity.

It has been suggested that the stereospecificity of enzyme catalysis is based on the steric configuration of the constituent amino acids; therefore, the introduction of two asymmetric centres into the catalyst would lead to decreased flexibility and allow for a more stereospecific interaction between the catalyst and the substrates. Thus, we offered a preliminary report ²³ of stereoselective effects in the hydrolyses of enantiomeric substrates by a series of dipeptide catalysts containing a histidyl residue, in the presence of cetyltrimethylammonium bromide (CTABr) micelles. Very recently, however, Ohkubo et al.24 demonstrated very large stereoselective effects in the hydrolysis of *p*-nitrophenyl *N*-acylphenylalanates catalysed by vesicular systems, which include the same dipeptide catalysts. In this report, we provide full details of the previous work, and discuss the structural effects of catalysts and substrates on stereoselectivity.

Results and Discussion

Micellar Catalysis and Stereoselectivity.—Kinetic studies were performed at pH 7.30, 0.02M-phosphate buffer, and 25 °C. Pseudo-first-order rate constants (k_{ψ}) were evaluated by monitoring the release of *p*-nitrophenoxide ion spectrophotometrically at 400 nm under the conditions [CTABr] > [catalyst] > [substrate]. The catalytic hydrolyses of (IIa and b) by various dipeptide catalysts (IIIa—g) were first examined in the presence of a fixed CTABr concentration (6.00 ×



10⁻³M), and a typical k_{ψ} -catalyst concentration profile is shown in Figure 1, which shows that in all cases a linear relationship exists between the rate constant and the catalyst concentration. From the slopes of the straight lines, the apparent catalytic rate constants (k_c) in Table 1 were evaluated, together with analogous results for the catalysts (Ic and e) and N-(benzyloxycarbonyl-L-histidyl)-L-leucine.

From Table 1, it is apparent that the catalysts containing an L-histidyl residue (or D-histidyl residue) stereoselectively hydrolyse the L-enantiomers (or D-enantiomers) of the substrates, (IIa or b), in all cases. This indicates that the stereoselective control is mainly determined by catalytic acyl transfer to the imidazole function at the active site of the optically active catalyst. However, the variation in the stereoselectivity of the catalysts is fairly large (1.2—12.2), indicating that the selectivity is affected by the amino acid side chains (R^2 group) of the dipeptide catalysts. In general, the dipeptide catalysts (IIIa—g) are more stereoselective than Z-L-His (Ie).

Both the rate constants and the stereoselectivity (L/D) for the reactions of (IIa and b) with the dipeptide catalysts (IIIa, c, d, f, and g) which have L,L configurations (cases 3, 5, 6, 10, and 12), increase to a maximum and then decrease as the R² groups of the catalysts become larger and more hydrophobic. Thus, the largest stereoselectivities we observed are 12.2 (Moc-Phe-ONp) and 6.32 (Z-Phe-ONp) with Z-L-Leu-L-His (IIId, case 6).

Comparisons of the diastereomeric dipeptide catalysts, Z-Leu-His (IIId) and Z-Phe-His (IIIf), show that Z-L-Leu-L-His and Z-L-Phe-L-His give increased rates for one of each pair of enantiomeric substrates and thus result in larger stereoselectivities than their diastereomers (cases 6 and 7,

$$\begin{array}{c} R^{4}OCONHCHCO_{2}C_{6}H_{4}NO_{2}-\rho \\ I \\ R^{5} \\ (II) \end{array}$$

a; $R^4 = Me$, $R^5 = PhCH_2$ (Moc-Phe-ONp) b; $R^4 = R^5 = PhCH_2$ (Z-Phe-ONp)



a;
$$R^2 = Me$$
, $R^3 = H (Z-Ala-His)$
b; $R^2 = Me$, $R^3 = Me (Z-Ala-His-OMe)$
c; $R^2 = Me_2CH$, $R^3 = H (Z-Val-His)$
d; $R^2 = Me_2CHCH_2$, $R^3 = H (Z-Leu-His)$
e; $R^2 = Me_2CHCH_2$, $R^3 = Me (Z-Leu-His-OMe)$
f; $R^2 = PhCH_2$, $R^3 = H (Z-Phe-His)$
g; $R^2 = 3$ -Indolyl-CH₂, $R^3 = H (Z-Trp-His)$



Figure 1. Pseudo-first-order rate constants (k_{ψ}) for the hydrolysis of Moc-Phe-ONp (IIa) as a function of the concentration of catalyst, Z-L-Leu-L-His (IIId), in the presence of CTABr micelles at pH 7.30, 0.02m-phosphate buffer, and 25 °C, [CTABr] 6.00 × 10⁻³M, [(IIa)] 1.0 × 10⁻⁵M. \odot D-(IIa), O L-(IIa)

10 and 11). The chirality of the amino acid residue next to the histidine contributes to an increase in the stereoselectivity by increasing the rate of hydrolysis of one enantiomer. Recently, Brown *et al.*²⁵ prepared diastereomeric functional surfactants, and offered a preliminary report on their stereoselective catalytic properties. They found that the diastereomeric catalysts showed opposite selectivities for the hydrolyses of enantiomeric *p*-nitrophenyl *N*-acetylphenylalanates. This shows that structural differences between catalysts result in different selectivities; however, these selectivities were much less than those observed in our comicellar systems.

J. CHEM. SOC. PERKIN TRANS. II 1983

Interestingly, Z-L-His-L-Leu, which has the reverse sequence of amino acid residues, is much less stereoselective than Z-L-Leu-L-His (cases 6 and 9). This indicates the importance of the position of the imidazole group in the catalyst. These results suggest, therefore, that the catalytic reactions could be accelerated and the stereoselectivities increased when specific interactions exist between the catalyst and substrate, and the orientation of the active site in the catalyst is fixed in a particular conformation in the micellar phase. Moreover, Z-L-Ala-L-His-OMe and Z-L-Leu-L-His-OMe are less reactive and stereoselective than Z-L-Ala-L-His and Z-L-Leu-L-His, respectively (cases 3 and 4, 6 and 8). These results also indicate the importance of the existence of a free carboxyl group in the active site. We suggested previously ^{1,20d} that the carboxylate ion of the catalyst enhanced the reactivity of the imidazole group and produced an increase in the stereoselectivity.

We briefly examined the reactions in the absence of CTABr. The reactions were difficult to study owing to the insolubility of the catalyst and/or substrate in the absence of surfactant. The measurements were therefore made in 20% ethanol solution. The results appear in Table 2, wherein it appears that the reaction rates in the absence of surfactant are about two orders of magnitude slower than those in the presence of surfactant. The kinetic stereoselectivities are also small (1.04-2.03). These results show that rate enhancements and stereoselectivity are strongly associated with incorporation of the catalyst and substrate into micelles by hydrophobic interaction, leading to an effective orientation between the reactants. In previous papers 20a, b we have shown that improved stereoselectivity results from increasing hydrophobic interaction between the catalyst and substrate in the micelles. In the present study, hydrophobic interaction is again one of the important factors in producing the high degree of stereochemical control of the esterolyses of enantiomeric substrates.

The catalytic hydrolyses of non-specific substrates, such as *p*-nitrophenyl acetate (PNPA), hexanoate (PNPH), and laurate (PNPL) by dipeptide catalysts were also examined at pH 7.30, 0.02*m*-phosphate buffer, and 25 °C in the presence of CTABr micelles. The results of these experiments appear in Table 3. The catalysts employed here do not seem to affect the reaction rates significantly, and diasteromeric pairs of Z-Leu-His and Z-Phe-His show no significant rate differences in the hydrolyses of non-specific substrates. These results suggest that the formation of a hydrogen-bonding interaction between the amide bonds of the amino acid substrate and the catalyst is another important factor that brings about high stereoselectivity.

Catalytic Efficiency of Comicellar Systems.—In order to investigate further the stereoselective properties of these comicellar systems, kinetic treatments were carried out in terms of a micellar pseudophase model [equation (1)], where M is the comicelle (catalyst + CTABr), S is the substrate,

$$M + S \xrightarrow{K} MS \xrightarrow{k_m} Products$$
(1)
Products

MS is the micelle-substrate complex, K is the dissociation constant, and k_o and k_m are the rate constants for product formation in bulk solvent and in the micellar phase, respectively. The k_m and K values were obtained according to previous techniques.^{3a,20a} Table 4 shows that the k_m values are quite different but that the K values are not very different for enantiomeric D and L substrates. These results indicate that

Case	Catalyst	$k_{\rm c}/{\rm l} {\rm mol}^{-1} {\rm s}^{-1}$						
		Moc-Phe-ONp (IIa)			Z-Phe-ONp (IIb)			
		L	D	L/D	L	D	L/D	
1	Dec-L-His (Ic)	314	145	2.17	572	231	2.52	
2	Z-L-His (Ie)	80.7	66.0	1.22	111	92.3	1.20	
3	Z-L-Ala-L-His (IIIa)	139	32.1	4.33	98.9	37.9	2.61	
4	Z-L-Ala-L-His-OMe (IIIb)	32.6	15.4	2.12	33.0	18.9	1.75	
5	Z-L-Val-L-His (IIIc)	309	44.7	6.91	225	56.7	3.97	
6	Z-L-Leu-L-His (IIId)	645	52.7	12.2	473	74.9	6.32	
7	Z-L-Leu-D-His (IIId)	60.9	146	2.40 ^b	78.4	176	2.24 ^b	
8	Z-L-Leu-L-His-OMe (IIIe)	291	46.2	6.30	210	56.4	3.72	
9	Z-L-His-L-Leu ^c	54.5	47.0	1.16	70.5	54.0	1.31	
10	Z-L-Phe-L-His (IIIf)	541	74.5	7.26	439	110	4.48	
11	Z-D-Phe-L-His (IIIf)	172	74.2	2.32	202	98.1	2.06	
12	Z-L-Trp-L-His (IIIg)	85.9	47.2	1.82	103	67.5	1.53	

Table 1. Apparent catalytic rate constants (k_c) in the presence of CTABr micelles ^a

^{*a*} At pH 7.30, 0.02*m*-phosphate buffer, and 25 °C in the presence of 6.00×10^{-3} *m*-CTABr, [catalyst] 0.50— 6.0×10^{-4} *m*, [substrate] 1.0×10^{-5} *m*. The k_c values are calculated by least-squares and generally have correlation coefficients >0.99. ^{*b*} The rate constant ratios are D/L. ^{*c*} N-(Benzyloxycarbonyl-L-histidyl)-L-leucine.

Table 2. Catalytic effects in the absence of surfactant ^a

 $k_{c}/1 \text{ mol}^{-1} \text{ s}^{-1}$ Moc-Phe-ONp (IIa) Z-Phe-ONp (IIb) L Catalyst D L/D L D L/D Z-L-His (Ie) 0.852 0.818 1.04 1.27 1.12 1.14 Z-L-Leu-L-His (IIId) 1.03 0.722 1.43 1.79 0.930 1.92 Z-L-Phe-L-His (IIIf) 1.62 0.828 1.96 3.07 1.51 2.03 Z-D-Phe-L-His (IIIf) 0.808 0.642 1.26 1.41 0.859 1.64 ^a At pH 7.30, 0.02*m*-phosphate buffer, 20% v/v ethanol, and 25 °C.

 Table 3. Catalytic hydrolysis of non-specific substrates in the presence of CTABr micelles^a

	$k_{\rm c}/{\rm l} {\rm mol}^{-1} {\rm s}^{-1}$			
Catalyst	PNPA	PNPH	PNPL	
Z-L-His (le)	4.2	7.7	7.8	
Z-L-Leu-L-His (IIId)	4.8	5.8	6.2	
Z-L-Leu-D-His (IIId)	4.8	7.9	8.4	
Z-L-His-L-Leu	4.2	4.4	4.2	
Z-L-Phe-L-His (IIIf)	5.1	6.3	6.2	
Z-D-Phe-L-His (IIIf)	4.8	7.6	7.8	

^a At pH 7.30, 0.02m-phosphate buffer, and 25 °C in the presence of 6.00×10^{-3} m-CTABr, [CTABr] 0.50×10^{-4} — 6.0×10^{-4} M, [substrates] 1.0×10^{-5} M.

D and L substrates may bind equally well in the hydrophobic region of the micelles near the active site of the catalyst, but that the binding of the D substrate leads to the wrong orientation between the reactive group of the catalyst and the carbonyl group of the substrate.

Structural Effects of Catalysts and Substrates.—Brown and Bunton ^{4b} suggested that hydrogen-bonding interactions make an important contribution to the high stereoselectivity observed in the hydrolysis of enantiomeric *N*-acylphenylalanine *p*-nitrophenyl esters, catalysed by an optically active functionalized surfactant. Our data in Table 1 shows that the observed stereoselectivity gaves a maximum at Z-L-Leu-L-His (IIId) for both substrates, (IIa and b). This behaviour results when a hydrogen-bonding interaction can exist between the amide bonds of the catalyst and the substrate in addition to the hydrophobic interaction. Analogous kinetic studies were carried out with various amino acid ester substrates and two different micellar catalytic systems, Dec-D and L-His, and Z-L-Leu-D and L-His (Table 5). Table 5 shows the stereoselectivity, with a maximum for Z-L-Leu-ONp in each catalytic system. Similar behaviour was observed in the hydrolysis of amino acid esters catalysed by optically active *N*-lauroylhistidine and CTABr systems.^{7b} These results also suggest that hydrogen-bonding and hydrophobic interactions are important in the designing of systems to realize maximum micellar stereoselectivity.

The present study presents evidence that optically active dipeptide derivatives are effective stereoselective catalysts for reactions of enantiomeric substrates in the presence of surfactant micelles. The micellar stereoselectivity depends upon both the hydrogen-bonding and hydrophobic interactions between the substrates and catalysts. These interactions lead to enhanced reactivity for one enantiomer and result in high stereoselectivity.

Experimental

Materials.—The dipeptide catalysts (IIIa—g) were prepared by reactions of corresponding *N*-hydroxysuccinimide esters of *N*-benzyloxycarbonylamino acids with histidine or histidine methyl ester according to a modification of the literature methods.^{26,27} *N*-(Benzyloxycarbonyl-L-ananyl)-L-histidine (IIIa), m.p. 131—132 °C (lit.,²⁸ 131 °C), $[\alpha]_D^{20} + 23.3^\circ$ (*c* 0.6 in 80% EtOH). *N*-(Benzyloxycarbonyl-L-ananyl)-L-histidine methyl ester (IIIb), m.p. 164—165 °C (lit.,^{27b} 164—165 °C), $[\alpha]_D^{20} - 18.7^\circ$ (*c* 2 in MeOH + 1 equiv. HCl) [lit.,^{27b} - 19.2° (*c* 2, MeOH + 1 equiv. HCl)]. *N*-(Benzyloxycarbonyl-Lvalyl)-L-histidine (IIIc), m.p. 122—124 °C (lit.,²⁹ 120—121 °C),

		$10^2 k_{\rm m}/{\rm s}^{-1}$			10⁴ <i>K</i> /l mol ⁻¹	
Catalyst	Substrate	L D		L/D	L	D
Z-L-Leu-L-His (IIId)	Moc-Phe-ONp (IIa)	72.8	5.35	13.6	12.5	8.12
	Z-Phe-ONp (IIb)	35.4	6.91	5.13	2.39	1.92
Z-L-His-L-Leu	Moc-Phe-ONp (IIa)	4.98	4.16	1.20	7.58	7.09
Z-L-Phe-L-His (IIIf)	Moc-Phe-ONp (IIa)	26.1	3.58	7.29	5.50	3.67
	Z-Phe-ONp (IIb)	23.6	5.82	4.05	0.797	0.606

Table 4. Kinetic parameters for reactions of comicellar systems ^a

Table 5. Rate constants for the catalytic hydrolyses of substrates in the presence of CTABr micelles^a

	$k_{\rm c}/{\rm l} {\rm mol}^{-1} {\rm s}^{-1}$					
	Dec-His (Ic)			Z-Leu-His (IIId)		
Substrate ^b	L	D	L/D	L,L	L,D	L,L/L,D
Z-Gly-ONp	162	161	1.01	72.0	64.6	1.11
Z-L-Ala-ONp	280	141	1.99	202	52.8	3.83
Z-L-Val-ONp	58.1	20.5	2.84	51.9	9.03	5.75
Z-L-Leu-ONp	415	134	3.10	360	52.3	6.88
Z-L-Ile-ONp	36.1	13.1	2.76			
Z-L-Phe-ONp (IIb)	572	228	2.51	473	78.4	6.03
Z-L-Trp-ONp	42.3	36.5	1.16	19.0	11.6	1.64

^{*a*} At pH 7.30, 0.02*m*-phosphate buffer, and 25 °C in the presence of 6.00×10^{-3} *m*-CTABr micelles, [catalyst] 0.5×10^{-4} — 6.0×10^{-4} *m*, [substrate] 1.0×10^{-5} *m*. ^{*b*} *N*-(Benzyloxycarbonyl)-amino acid *p*-nitrophenyl esters; abbreviations follow the rules in I.U.P.C. (Information Bulletin No. 26).

 $[\alpha]_{D^{20}} + 27.5^{\circ} (c \text{ 1 in MeOH}) [lit.,^{29} + 26.8^{\circ} (c \text{ 1.5 in MeOH})].$ N-(Benzyloxycarbonyl-L-leucyl)-L-histidine (IIId), m.p. 121-122 °C (lit., ²⁹ 120–121 °C), [a]_D²⁰ +7.30° (c 2 in 80% EtOH). *N*-(Benzyloxycarbonyl-L-leucyl)-D-histidine (IIId), m.p. 126-128 °C, $[\alpha]_{D}^{20}$ -46.3° (c 1 in 80% EtOH). N-(Benzyloxycarbonyl-L-leucyl)-L-histidine methyl ester (IIIe), m.p. 130-132 °C (lit.,³⁰ 131–132 °C), $[\alpha]_D^{20}$ –15.5° (c 1 in MeOH) [lit.,³⁰ -16.5° (c 1.5 in MeOH)]. N-(Benzyloxycarbonyl-Lphenylalanyl)-L-histidine (IIIf), m.p. 215–217 °C (lit.,³¹ 210–211 °C), $[\alpha]_D^{20}$ – 5.0° (c 1 in DMF) [lit.,³¹ – 5.1° (c 1 in DMF)]. N-(Benzyloxycarbonyl-D-phenylalanyl)-L-histidine (IIIf), m.p. 167–168 °C (lit.,³¹ 165–168 °C), $[\alpha]_D^{20} + 36.4^\circ$ (c 1 in MeOH) [lit.,³¹ +38° (c 1 in MeOH)]. N-(Benzyloxycarbonyl-L-tryptophyl)-L-histidine (IIIg), m.p. 140-142 °C, $[\alpha]_D^{20} - 8.5^\circ$ (c 1 in DMF). The dipeptide derivatives were identified by elemental analyses.

N-Benzyloxycarbonyl-L-histidine (Ie) and *N*-(benzyloxycarbonyl-L-histidyl)-L-leucine were purchased from Tokyo Chemical Industry Co. and Kokusan Chemical Works, respectively. Other materials have been described elsewhere.^{20b}

Kinetic Measurements.—Reactions were generally monitored on a Hitachi 200 spectrophotometer or a Shimazu 140 spectrophotometer with a thermostatted cell holder at 25 °C. In the general procedure, a solution (25 μ l) of substrate in acetonitrile was added to a buffer solution (3.00 ml) containing the catalyst and surfactant at the desired concentrations.

Pseudo-first-order rate constants were obtained from plots of log $(A_{\infty} - A_t)$ versus time (t) by use of the least-squares method. Correlation coefficients were >0.999. Details of the kinetic conditions may be found in the Results and Discussion section.

Acknowledgements

We thank Professor Robert A. Moss and Dr. George O. Bizzigotti for helpful comments.

References

- 1 Part 3, Y. Ihara, R. Hosako, M. Nango, and N. Kuroki, J. Chem. Soc., Perkin Trans. 2, 1983, 5.
- 2 M. L. Bender, 'Mechanism of Homogeneous Catalysis from Protons to Proteins,' Wiley, New York, 1971, and references cited therein.
- 3 (a) J. H. Fendler and E. J. Fendler, 'Catalysis in Micellar and Macromolecular Systems,' Academic Press, New York, 1975; (b) C. A. Bunton, in 'Application of Biochemical Systems in Organic Chemistry,' Part 2, eds. J. B. Jones, C. J. Sih, and D. Perlman, Wiley, New York, 1975; (c) U. Tonellato, 'Solution Chemistry of Surfactants,' ed. K. Mittal, Plenum, New York, 1979.
- 4 (a) C. A. Bunton, J. Robinson, and M. F. Stam, *Tetrahedron* Lett., 1971, 121; (b) J. M. Brown and C. A. Bunton, J. Chem. Soc., Chem. Commun., 1974, 969.
- 5 (a) R. A. Moss and W. L. Sunshine, J. Org. Chem., 1974, 39, 1083; (b) R. A. Moss, T. J. Lukas, and R. C. Nahas, Tetrahedron Lett., 1977, 3851; (c) R. A. Moss, R. C. Nahas, and T. J. Lukas, *ibid.*, 1978, 508.
- 6 J. Koga, M. Shoshi, and N. Kuroki, Nippon Kagaku Kaishi, 1978, 1179.
- 7 (a) K. Yamada, H. Shosenji, and H. Ihara, Chem. Lett., 1979, 491; (b) K. Yamada, H. Shosenji, H. Ihara, and Y. Otubo, Tetrahedron Lett., 1979, 2529; (c) H. Ihara, S. Ono, H. Shosenji, and K. Yamada, J. Org. Chem., 1980, 45, 1623; (d) S. Ono, H. Shosenji, and K. Yamada, Tetrahedron Lett., 1981, 2391.
- 8 (a) R. Ueoka, T. Terao, and K. Ohkubo, Nippon Kagaku Kaishi, 1980, 462; (b) K. Ohkubo, K. Sugahara, H. Ohta, K. Tokuda, and R. Ueoka, Bull. Chem. Soc. Jpn., 1981, 54, 576; (c) R. Ueoka, Y. Matsumoto, Y. Ninomiya, Y. Nakagawa, K. Inoue, and K. Ohkubo, Chem. Lett., 1981, 785.
- 9 (a) K. Kon-no, M. Tosaka, and A. Kitahara, J. Colloid Interface Sci., 1981, 79, 581; (b) K. Kon-no, M. Tosaka, and A. Kitahara, ibid., 1982, 86, 288.
- 10 Y. Murakami, A. Nakano, A. Yoshimatsu, and K. Fukuya, J. Am. Chem. Soc., 1981, 103, 728.
- 11 (a) C. G. Overberger and I. Cho, J. Polym. Sci., A-1, 1968, 6, 2741; (b) C. G. Overberger and K. W. Dixon, J. Polym. Sci., Polym. Chem. Ed., 1977, 15, 1863.
- 12 Y. Okamoto, Nippon Kagaku Kaishi, 1978, 870.

- 13 M. Nango, H. Kozuka, Y. Kimura, N. Kuroki, Y. Ihara, and I. M. Klotz, J. Polym. Sci., Polym. Lett. Ed., 1980, 18, 647.
- 14 M. Aglietto, G. Ruggeri, B. Tarquini, F. Ciardelli, and D. Gianni, *Polymer*, 1980, **21**, 541.
- 15 M. G. Harun and A. Williams, Polymer, 1981, 22, 946.
- 16 (a) C. von Hooidonk and J. C. A. E. Breebaart-Hansen, *Recl. Trav. Chim. Pays-Bas*, 1970, **89**, 289; (b) C. von Hooidonk and J. C. A. E. Breebaart-Hansen, *ibid.*, 1971, **90**, 680 (c) C. von Hooidonk and J. C. A. E. Breebaart-Hansen, *ibid.*, 1972, **91**, 1103.
- 17 (a) K. Flohr, R. M. Paton, and E. T. Kaiser, J. Chem. Soc., Chem. Commun., 1971, 1621; (b) K. Flohr, R. M. Paton, and E. T. Kaiser, J. Am. Chem. Soc., 1975, 97, 1209.
- 18 Y. Kitaura and M. L. Bender, Bioorg. Chem., 1975, 4, 237.
- (a) Y. Chao, D. J. Cram, J. Am. Chem. Soc., 1976, 98, 1015;
 (b) J. M. Lehn and C. Sirlin, J. Chem. Soc., Chem. Commun., 1978, 949.
- 20 (a) Y. Ihara, J. Chem. Soc., Chem. Commun., 1978, 984; (b) Y. Ihara, J. Chem. Soc., Perkin Trans. 2, 1980, 1483; (c) Y. Ihara, M. Nango, and N. Kuroki, J. Org. Chem., 1980, 45, 5009; (d) Y. Ihara, R. Hosako, M. Nango, and N. Kuroki, J. Chem. Soc., Chem. Commun., 1981, 393.
- 21 K. Ohkubo, K. Sugahara, K. Yoshinaga, and R. Ueoka, J. Chem. Soc., Chem. Commun., 1980, 637.
- 22 (a) R. A. Moss, Y.-S. Lee, and T. J. Lukas, J. Am. Chem. Soc., 1979, 101, 2499; (b) R. A. Moss, Y.-S. Lee, and K. W. Alwis, *ibid.*, 1980, 102, 6646.

- 23 Y. Ihara, N. Kunikiyo, T. Kunimasa, M. Nango, and N. Kuroki, Chem. Lett., 1981, 667.
- 24 K. Ohkubo, N. Matsumoto, and H. Ohta, J. Chem. Soc., Chem. Commun., 1982, 738.
- 25 J. M. Brown, R. L. Elliott, C. G. Griggs, G. Helmchen, and G. Nill, Angew. Chem. Int. Ed. Engl., 1981, 20, 890.
- 26 (a) E. Gross and J. Meienhofer, 'The Peptides,' Academic Press, New York, vol. 1, 1979; (b) M. Goodman and K. C. Stueben, J. Am. Chem. Soc., 1959, 81, 3980.
- 27 (a) T. Inoue, K. Nomura, and H. Kimizuka, Bull. Chem. Soc. Jpn., 1976, 49, 719; (b) V. P. Chernyshev, E. I. Filippovich, R. P. Evestigneeva, and N. A. Preobrazhenskii, J. Gen. Chem. USSR (Engl. Transl.), 1970, 40, 1634.
- 28 M. Hunt and V. Vigneaud, J. Biol. Chem., 1938, 124, 699.
- 29 H. A. Florsheim, S. Makineni, and S. Shankman, Arch. Biochem. Biophys., 1962, 97, 243.
- 30 (a) E. Schroder and K. Lubke, 'The Peptides,' Academic Press, New York, vol. II, 1966; (b) M. I. Dagene, L. P. Rasteikene, O. V. Kil'disheva, and I. L. Knunyants, Bull. Akad. Sci. USSR, Div. Chem. Sci., 1970, 1517.
- 31 E. Nicolaides, H. Dewald, R. Westland, M. Lipnik, and J. Poster, J. Med. Chem., 1967, 11, 74.

Received 31st January 1983; Paper 3/134